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BACHELOR'S DEGREE PROGRAMME (BDP) / 

CERTIFICATE PROGRAMME IN TEACHING OF 

PRIMARY SCHOOL MATHEMATICS (CTPM) 
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June, 2018 

(APPLICATION ORIENTED COURSE) 

AMT-01 : TEACHING OF PRIMARY SCHOOL 
MATHEMATICS 

Time : 3 hours 	 Maximum Marks : 100 
(Weightage : 70%) 

Note : Question no. 1 is compulsory. Attempt any eight 

questions from questions no. 2 to 10. 

1. (a) A child, when asked to write four hundred 

and five, wrote 4005. What could be the 

possible reasons for doing so ? Suggest an 

activity to help the child realise her error. 4 

(b) When Rahul dances, he uses a lot of 

mathematics. Give two such distinct 

mathematical concepts he would use. Justify 

your answer. 
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(c) Give two examples to illustrate the role of 

ordinary language in mathematics learning. 	4 

(d) "Children learn better in groups." Justify 

this statement with the help of two suitable 

examples in the context of learning the 

concept of 'angle'. 	 4 

(e) Outline a series of two activities to help a 

child realise that division by a non-zero 

fraction is multiplication by its reciprocal. 	4 

2. (a) Write three major difficulties children face 

while learning the concept of 'variable'. Also 

suggest a game that can be played by a 

group of children which helps them to 

overcome any one of these difficulties. 5 

(b) "Estimation is an important skill to acquire." 

Explain why it is important, in the context of 

measuring height. Suggest an activity to 

assess the extent to which a child has 

acquired the skill of estimation. Also explain 

how this activity is an 'assessment' activity. 5 
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3. (a) Manisha. always applies the division 
algorithm as follows : 

29  
n  627 

6 
27 
27 

Identify the error Manisha has committed 
while applying the division algorithm. 
What are the possible reasons for making 
the error ? How would you help her change 
her understanding behind any One of these 
reasons ? 

(b) Pictorially represent the following : 

(i) —I of —6 
3 9 

(ii) 0.02 + 0.02 + 0.95 

(iii) 2 3 

4. (a) Outline three group activities, at different 
ability levels, to help Class 2 children 
understand addition of two-digit numbers 
with carry over. Also explain how these 
activities require different ability levels. 6 

(b) Explain the difference between going from 
`particular to general' and 'concrete to 
abstract' in the context of learning about 
irregular shapes. 4 
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5. (a) (i) What is a negative number ? 

(ii) Give two difficulties children of 

Class 5 usually face in understanding 

negative numbers. 

(iii) How can we use the number line to 

overcome any one of these difficulties ? 
Explain in detail. 	 5 

(b) What do 'L' and 'S' stand for in the sequence 

E-L-P-S ? Explain these processes in the 

context of learning about 'time'. 5 

6. (a) Give an example each of an open figure and 

a closed figure. Describe an activity which 

helps children of Class 4 determine if a 

given figure is open or closed. 3 

(b) List three pre-number concepts and for any 

one of these explain how knowing it helps 

children to learn counting. 

(c) (i) Give two fractions, one that is 

equivalent to 
7 
 and one that is not 

equivalent to —
3 

. Justify your answers. 
7 

(ii) Give an activity to help children 

understand the concept of equivalent 

fractions. 4 
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. List the steps involved in dealing with a word 

problem. illustrate these steps in the context of 

solving the following problem : 

"A father is 30 years older than his daughter. 

20 years ago the father's age was 4 times that of 

his daughter's. How old is the father now ?" 10 

8. (a) (i) Explain the difference between 
inductive and deductive logic. 

(ii) Prove that in a triangle ABC, the 
exterior angle at A is equal to the sum of 
the interior angles at B and C. 

(iii) Which type of logic did you use for 
proving the result in (ii) ? Justify your 
answer. 

(b) (i) What are standard and non-standard 
units of measurement ? Explain this 
using an example of measurement of 
length. 

(ii) Further, explain the utility of 
non-standard measurements. 
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9. (a) Give an example in support of each of the 
following statements : 

(i) Children learn by experiencing things. 

(ii) Mathematical learning is spiral in 
nature. 

(iii) A figure can have many axes of 
symmetry. 

(b) Give an algorithm for the multiplication of 

two decimal fractions. What is the 

mathematical reasoning behind this 
algorithm ? 4 

10. Which of the following statements are correct, 

and which are incorrect ? Give reasons for your 

answers. 10 

(a) A single mathematical expression can 
represent only one situation. 

(b) The ability to conserve is fundamental to the 
development of mathematical thinking. 

1 
(c) 2 1 — + 4 — = 3 

2 	2 

(d) Assessment begins after the teaching 

process ends. 

(e) Children have their own strategies for 

solving problems. 
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